UGS - — Quirg iDey

Part-A — General Studies

(B) (III) and (IV) only
(C) (V) only
(D) (III) only

(E) Answer not known
Gemeu(md @eearsaild seauprarauparn sy :

eflerméser  : 1-100 Quomss wHri@Auemsd : 150
Questions :1-100 Total Marks : 150
1. Which one of the following pairs is wrongly matched”
Revolt AFon
()  Ramosis —  Poona
(IT) Kuka —  Punjab
(ITI) Santhals —  Orissa
l (IV) Kittur —  Malabar
(A (D and (LII) only

_ Serrés]  uEd

I  grGwrflev —  yen

(H) &M . —  uEseL

(III) spsevev - effler
(IV) &A@ ~—  eunf

: A) @) wpgd AID) wepd
iy AB) (HI) wigid (V) wrEw
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i e traditional small seale
[n India, th 4 Mduggy,
'y

ngﬂfCY
W1 scale industries.

Assertion [A] employment potentigl

5. X

have

modern smi
) f capital per worker in tradi:

Th(" Vd]UC (8] ‘l ‘ } dd”’“’nﬂll

le industries is smaller than the vy, of

“

‘h:ln t.h(_

Reason [R]
small sca ‘
capital per worker in the modern small g,

industries.
(A) Both [A] and [R] are true and [R] is the correct explanatig,
of [A]
(B) Both [A] and [R] are true but [R] is not a correct explanation
of [A]
(C) [A] is true but [R] is false
(D) [A] is false but [R] is true

(E) Answer not known

gamm [A] Epdlwimelle ] o YW (T HnQsmdevser 2455
CeuemaeumiiienL bedeur fm) Qamosemaradl
QULPEIGEl 6T e.

smyewrid [R] umybufw é]gj@g,rr;}@d)éaerﬂsb Ggmflerermé@ CosemeuliLi@pb

eoger L Gopaursed peiar Hn  CQsmfdsaa
Ogmflerer(hé& GaaneuliLi(Id PP GV S 60T &l
2 FSOTEH6 LD 2 drarg).
(A) [A] womi [R] @rem@w &fl womnd [R] ererug [Alssrer sfwuren
efleTé s .
(B) [A] wpmn [R] @raw@w af eyemme [R] orerug [Al@er sfwnar
efleng s @)ehane
(€) [A] sl syara» [R] oy
(D) [A] seumy pemmed [R] &
(E) e Ogfluieidama
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,wing 18 correct regarding the target of |,

Which among the follc

in Tenth Plan?

=

of literacy to 76% within the plan period
to 80% within the plan period
70% within the plan period
5% within the plan period

(A) toincrease
(B) to increase of literacy
(C) to increase of literacy 0O
(D) to increase of literacy to 8

(E) Answer not known
H sTosH® sflwrer  soefwde| Gsm i mrg,

QereumeuareHDET L& e

(OGS \
(A) HrLssresde 75 Nl(p&HSTL-TH soafwdeted 2 wie] :
(B) QL,L_é;aanan,g‘Jév 80 o (p&&TLS soafwudeiled o wie]

(C) A ssrasdad 70 SA(pHEHTLITS soedudeildr 2 wire]

(D)/ AL ssTOSS® 85 aN(p&sTLITS saedwhaeid 2 wiray

(E) oderL Qsflweildrene

8. Consider the following statements and identify the correct answer :
(A) The Central CIC is eligible for reappointment but the State

CIC is not eligible for reappointment
The State CIC is eligible for reappointment but the Central

CIC is not eligible for reappointment
(C) Both are eligible for reappointment
(D) Both are not eligible for reappointment

(E) Answer not known |
Spangmid sahpIS@ar SHHE Qarean(®, shwurar el amws CabbsHss :
(A) wHAL FHODW S&EAD HHTLGSS pBluweanDd FTHELID, QeI
wifle EnaELD HEEIEW <9}, 60 G LI (H& (& LmIBHlLILOETLD FTHH WD
(B) wifla smea@n 55610 H@E@TUHES woHunand FTEHub, BT
S8l FEELD H&H66D <2, 6N ET L (TH(8) miblwoed FTHSLIDO

(B)

(C) GmauméE G wpfluiwand srgdub
(D) G meumsEGw wybluwand srhdluinde
(E) &flen Qgflwelichaney
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ind out the i in C 1881
Fi INCOrrect statement about the Sarkaria Commission :

9.
@  The Commission was appointed on 1983
(i) The Commission magde 947 recommendations
(i) The Commission recommended to scrap the Article 356 K
(iv) The Commission recommended that the residuary powers of
taxation should be given to the states
(A) (1) and (iv) only
.| (B) (i1) and (iii) only
f (C) only (iv)
R a»%h (iii) and (iv)
(E) Answer not known
sidsrilun syeearub upHlu geprear smpbeoear s Hs :
(1) srssmilun b 1983-1b e FHLGHSIULL S
(1) @s emearwid 247 ufpgersmer salsss
5 (i) smp 356 Boaspe G5 Bwenud UNpg@TEsS
E (iv) afleddutbe eodmar aeflu sHsmhser orfomsellb  QEHes
i Ceuam(Bib eTeim @bs <enanriuid LMbSI®TESSI-
(A) (i) wpgid (V) 0 Go
' (B) (ii) wpgd (ii1) v G

(C) (iv) b (pw
(D) (i), (iii) wppid (iv)
eflenL Qg flwehlcene

2  CCSE2T/20
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11.

Find out the incorrectly matehed
' ched,

@ Article 18— Aparie:
L wolition of Titles
(1) rticle 21 , .
Protection of life and personal liberty
i) Article 23 . p . .
rotection against arrest
iv)  Article 2 T
( 0 nght to free movement

(A) (i1 and (iv) are incorrectly matched
(B) (i) and (i1i) are incorrectly matched
(©) () and (iv) are incorrectly matched

(D) (1) and (iv) are incorrectly matched

(E) Answer not known

Sp&sRTLeubIET SaupTar @)eneanenu gt (e

() eLegoyld - ulLhsmar P Bpad
() s eguy2l - o @ireunipsd whpib pefl wells s5pH 5 HaTE
LITghIMIIL

(1) e oquiy 23— @5y Qaiwtiu@euH e\ hhe LTSS

(iv) slL gy 20 — appHnons pLorBeipbere 2 feno

(A) (111) wpmid (iv) peaupren G e e

(B) (ii) wpmid (i) geuprar @) e et

(i) wpgib (iv) paprer Goar
(ii) whgd (iv) paipre (@) 6 6ot
flenL Qg Mwahdend

1 | CCSE2T/
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12.

13.

as the “Destroyer of cities™

Which of the Vedic Gods i8 described
(A) Agmi (B) Indra

(C) Rudra}//

(E) Answer not known

(D) Vishnu

s Geugs SL_ajer &ﬂu.lllu(ﬂﬂm"ﬁ?
(B) @pduen
(D) &feipem

‘BETRIS®EST &Quumr’r' erem eTh
(A) =sef

(C) msyen
(E) e Qsfludidme

Which one of the following is not correct about Harappan culture?

(A) All Harappan sites are urban character

(B) The Harappan cities depended on villages for food and

labourers
Harappan remains discovered even at small village sites

©
(D) The most distinctive feature of Lothal is dockyard
(E) Answer not known

Epsein_gliHmieT enruiu prefsh Lupd sauDTer FmOm 6T&l 2
goun prefasde Doabg GLEEEHD H&T praflsd Qsrar g

(A)

(B) apyuum pEIREET > aesETEAD, LIeRflLTeTTa@hssTsea)d A RIIET
sipdGH5E

(C) apyuur prefagden cestser Sblu Srronsefigid HeoL sSang)

(D) Canggean ApliLibsd oDUPSD FHGWD
(E) dle Gsflueiidene



The Gupta em
‘mperors be .
COINE. fore Chandragupta-1l jsaved only

(A) Gold
(B) Silver
(C) '[‘in

(D"/ Copper

(E) Answer not known

@ s
SUBHEEG - i
praTwLRSmET wl_HCw Qeuef ug‘_%“’ﬁuﬂ' GVP (nemen ff el

(A) smsbd

(B) Qeuarefl

(C) ssT0

(D) &by

(E) oo Qeflueiome

15. Haque—i-Sharb (or) Hasil-i-Sharb means
(A) Land Tax (B) Irrigation Tax

(C)/ mmercial Tax (D) Toll Tax

(E) Answer not known

mn&—@-aq‘rrfnj N gmaﬂé)-@—aa-rrm cramugen QU

(A) Ho afl (B) piunee aufl

B i 5ok (C) waﬂ& a”ﬂ

(D) ams aff

13 CCSE2










18.

|

d seeding technology 18 used to get artificial rain_ \
> llowing are

d seeding agents among the fo

Recently in Dubal, cl

The most commonly Us€

s

(1) Silver iodide

(2) Dry ice

(3) Sodium chloride

(4) Lead iodide

(5) Ammonium sulphate

(A) (1), (2) and (3) only
(B) (3), (4) and (5) only
(C) (1), (3) and (5) only
(D) (1), (3) and (4) only

(E) Answer not known

@l gurGe Guos AensiL Qsmflemr Ub Qeswhens L Qum

LweruhiSsIULL G-
1Qereu(meuaelHmIET eTan6
o LGUTAGsILEHSSILHSeTDE ?

QuTgeuns fensiL (PEHUTHATTE

(1) Qeusrall HGuTeL{
(2) e i uef

(3) Gemguib GGermeryh

(4) ru SCureL(®

(5) pGomeflwib FoGu
(A»f(j?@ oppib (3) L Gid
(B) (3), (4) wpmid> (5) LB
(C) (1), (3) wpgid (5) LG

(D) (1), (3) wpgd (4) LLED
| (E) eflen Qzflwaiichencd

CSE2T/2024 16



19.

20.

“Tamil Nadu Day’ celebrated every year on

A) dJune 8 i

('C)) Fuli B (B) June 18
N July ¢

: : (D) July 18

(E) Answer not known
< LIS] 3 .9 .
S P (B) gOar 18

C) g9 8 (D) gewa 18
(E) aflenL_ Q,&)rﬂmaﬁlcbmgo

Which of the following is correctly paired?

(1) 2014 —  Target Olympic Podium Scheme

(2) 2023 — Mera Yuva Bharat (MY Bharat)

(83) 1982 —  Sports Authority of India (SAI)

(4) 1984 — Dronacharya Award was instituted

(B) (1) and (2) are correct

(A) Only (3) is correct
(D) (3) and (4) are correct

(C) Only (4) 1s correct

(E) Answer not known
Epsaam_aipdled sflumraLs Qurr@ggguul'_l_ @\eneur cTen6y ?
(1) 2014 — @bds GueL Gos&Es Sirb

2) 2023 — ey @oeaw umgsd (MY ungs)

(3) 1982 — @ndu alleverwmi (b @D (SAI)

(4) 1984 — &CGyrammésmflunt aﬁ]@‘iyﬁm‘ppg
(A) (3) wL@pw &l (1) wpmw (2) &

(C) (4) wpw &f (D) (3) womn (4) &

(E) &flen. Qsfluwaidena

17 CCSE2T/2024
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A current of 0.5 A
number of electrons pa

(A)
(B)
(C)
(D)
(E) Answer not known

21.

6.25 x 10" electrons
6.023 x 10% electron:
1.6 x 10" electrons

3.8 x 10%" electrons

0.5 A WenCarmLib gefigpd EaEG
cafle, eferée eufiGu EeenD

(A) 6.25 x 10" aesLjranseT
(B)
©)

D)
(E)

6.023 x 10% erevsL_grense
1.6 x 107" arovsi_grenser
3.8 x 10% qravsL_grenser

llenL Gg,rﬂu_:mﬂmmm

22.

(A) Astronaut

(C) Gagannaut
(E) Answer not known

h a lamp for two minutes, then th,

the lamp 18

rdl rfenarambsef

Pwrs e Hlmiser umLdlps

el
G eTamanti&ens

5
o
Ny

ISRO prefer to launch Human space flight mission during
75tk independence, the (crew member) explorer is named as

(B) Cosmonaut

(D)

anganaut

LIWIERTLD

Bpdu efarCouafl piie) @mvwsstd Tdeag &sspdlrsden Curg gealiL@d

waflgmens Caram®  Geogib
CunGardn@sb @ e-niudert ereueum
(A)  =evl Crmpm

(C) snampm

(E) dflen QzMwedrena

'CCSE2T/2024 0

wa
e

TR
L .

Namswsder  alembleuaf
M HMLP&ESILI(HIGUTIT?
(B) smevCuompm

(D) smsmpm




3. Select the chronologi
logical order of mentor - student chain in the

establishment of scientific methods

(A)

(B)

©)

D)

(E)

Apepmar  (PDDEDET fpejaude eufisTly

Aristotle — Alexander — Socrates — Plato
Plato — Socrates — Aristotle — Alexander
Socrates — Plato — Aristotle — Alexander

Alexander — Aristotle — Socrates — Plato

Answer not known

—  pmemTeuiT

sraefl@aliuyg Camplsbhésed

(A) flevmiiged — AT

(B)

©)

(D)

GRTLIT — ST&Tle 6 — 9Car_GLm

T — snéyecy — SflepLTiig®d — S| Qe&EFTEITLT

QGar G

s& e — GG GLT — 2iflebLmiiged = S| Q&FTERTLIT

2CssTeEITLT — oyl ige — FT&Tesd — QCem_GLm

e Ggflweileene

19
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25.

CSE2T/2024

mass 10 kg. As 2 result, the body

of ‘ :
. atraight line. Find the

Y " a bod

:“f::i(‘] (()):) I:lr\; ?n‘ ’“4 (::@mndﬁ moving along a
initial velocity of the bhody.

(A) 6cem/s

(B) 5cem/s

(C) 8cm/s

(D) 12 cm/s :
(E) Answer not known

unapefies 1IN efleps Qeweou®@dng. Lser
amgsefiey 100 Q.5 CriGar igd B&mH
a@r_Hlweib.

10 £Cwnr e weer @6 @

Slevareuns Sipg GUTHET 4 &
aafld igen by Cassoss &

(A) 6 Qs.b/efarmg
(B) 5 Q&.b/efermig
(C) 8 Gl&. leeﬂmm‘l{\/ ¥
(D) 12 Qs.5/6Serm
. = [\E

(E) ofler Ggflweicoenea

Green light shines on a rose flower. Then, the colour of its petals seems

to be
(A) Green (BY Pink

(C) Black (D) Red

(E) Answer not known

gm Congr Biptiyeiled Lsms gefl afliellsdpg. ICuTg, isar @spaatiar
Bownss Carénmeug

AY  Gike (B Gaisbit@aui

© seoy (D) dlautiy

(E) dflen Gpfluciivama

f
)




. The Neyveli Lion;
20. n 1
26 '8hite  Corporation was established by the

Government of India ip the year

(A) 1956 * 197:
(C) 1980 (‘B))/l s
(E) Answer not known b

Spaiur L g7 ~ emuGragenr Hlmieuerd @QbHw  DATETD erGurgy

(A) 1956 B) 1972
(L 19 (D) 1959
(E) dler Gsfludma

97. Arrange the following universities in chronological order based on
the year of establishment :

(1) Manonmaniam Sundaranar Uniﬁersity
(2) Bharathidasan University

(3) Thiruvalluvar University

(4) Periyar University
A) (2),4), 1), (3) «ﬁx (1), (4), (3)
(€) (1), (2), 4), (3 D) (1), 3), (4), 2

(E) Answer not known
Gemaumid LDEMOESNSHISEMET 6 HlpeuriLl L <2p6HTig 6 sreaflensliuig
g@raa;mmésa;mib -

(1) wCamernoaflub &bsTETT LIDSEMOESSSLD

(2) wumpglgnser LIS &EHPELD
(B) BmpadEnai UOS@OESPSLD
(4) QUi LOEMWESHSLD

© @@ 00
| (E) '_ﬁam__ O Muehléene

“(B) (2), (1), 4), 3
D) (1), (3), (4), (2)

B 21 CCSE2T/20;



48 commission under chairmanship
od by the President ip

| by Article 240.

28. Assertion [A] : Backward cla |
of B.P. Mandal was appoint

of the powers confessec

exercise .
as developed eleven indicatorg

Reason [R] - The commission h
to determine backwardness. \
(A) [A] is true but [R] is false

(B) Both [A] and [R] are tru€; and [
of [A]

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true;
of [A]

(E) Answer not known

R] is the correct explanation

but [R] is not the correct explanation

QUIpRISULILL

smpp [A]  : scLudfle 240eér  ppeld  HAES
ofsmsday  gamHud B.P. ware
GHu@ESsLILLL  auGLEeIBESTET pE@EMTLIS SIS
Blunblgsmi.

@eaaremanub Gershdu Hlaeoamu gionaflss LHGemE

GNETL g &eer 2 (haumsélujerang.

GresTLiauenT

smremd [R]

(A) ] sfwnarg e [R] seupreang)

( [A] wppd [R] @rawrGid &rﬂu.srrméu Guaib [R] e [Aledpsner
shwmen eflerésid

(C) [A] pauprang; [R] efluneng

D) [A] wppi [R] @rened shura; o [R] eyorg [Aldpsrer

sflwmner eblenssd ee

(E) dlen GgMwehidrena

22 | ﬁ
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29. Match the following .

(a) Non-Brahmin MO‘Vement 1. Jyothi Rao Phule
(b) Self-Respect Movement 2. E.V. Ramasamy
(© Shuddhi Movement 3. Dayananda Saraswathi

Sathya Shodhak Samaj Movement 4. SriSahu Mahara)

@ o @© @

A 2 1 4 3
B) 1 4 2 3
<€ 2 3 4 1
D) 1 2 3 4

(E) Anéwer not known

Epss@TLaupenpll QUNHESIS ’
(a) ﬂgnwmqma)rr@g,rrr‘r. @ussid Gegrdymen yGa

(b) swolwures GussD m.Qeu. yrogmLsl

(c) ewrsd Qussd
(d) ssw Gergné FOTHY Quidsid

suranbs Freveld

e SNca SaPr Ser

uf #n@ waTTR

@ ® ©© @

s

g4 2 8

g 4 1
B 3 ¢
oL Opflucidme

2]



\orts

30,

How i avenia in chronologienl order about Ey M
fullow R

Arrange the | o
1) He became the Prosidont ol duntice Party
{ O DR
Dnpross
M He jorned Cong | | - ! ' ‘
: ' He becamo Prosident of Tnmil Nudu Congress Committee
3 ¢ DOGT |
Wl Vakom Sutyngrahn

(1) He organmst

(B) (1), (1), (3),(2)

A @), (D, (D, (D ‘
( M) (), (1), (1), 2)

@ @, @, @M
(E)  Answer not known

a Qarnn. ubhl sre eiflenatinig Getraimib Hlspesenen ¢iphisHen nése)n.

() et fRd & Nullesr enean Sy}, 6T (T

(2) e sridlyadled G&r‘l;bﬁn‘l\

3) @t slOPHpIH srmdiev SO g uflehr Heneoeufr e

(1) oassb ssdHundyshd el e
¢

A A2, (@, 3,

© 2.,03).@®. 1)
(E) e Qsflueidwena

B) 1), (1), (3), (2)
D) (3), (1), (4), (2)

“Vaanalum Selvamum Mannarasum Yaan Venden”

31.
[I don’t want rule the sky, wealth and monarch]|
Who said these words?
(A) Ramalinga Adigalar (B) Sundarar
(C) Nammalvar (D) Kulasekharar
(E) Answer not known
“QJ"Y @adaipb wememyaid winarGelmGLer — crshml-umq.tumﬂ-
(A) gmoadlig ojqsermr (B) &SI
(C) BDDTHEIT T (D) @oCsant
(E)  eflani GgMuseildena
CO/WoTIan ai

22
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atch corr ‘th i
32. M ectly the Newspapers associated with its Founders :

(a) Richard Johnston 1. Madras Courier
() G.P. Pillai 2. Madras Mail

(¢) Charles Lawson and Henry Cornish 3. Madras Standard
(d) G. Subramania Iyer 4. The Hindu

@ (b (0 (d)
A 1 3 2 4
@B 1 2 8 4
©) 2 3 4 1

3 2 1 4
(E) Answer not known

G miH M6 S&6u 16 (@ L6 QgmiyenL w Qeliglssraner gRlwrs QUITHSSULD

(a) Mesn® gmerser . ‘ 1 e g flwi
(b) G.P. Qerener ‘ 2. wgrmev Quoudléd
(c) anireed @ream LHDID 3. wgyrey eoLmar i
Qamnéri siresileis

@d) G.sogoefiu guit 4. & aflpgl

@ (b (©) (d)

\)
(0]
B R

25
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re stren gthening your words \

33. “Number four and two aT% =
hat?

Number ‘two’ refers to W
i (B) 'l‘hirukkuriﬂ

s TR - 1
5‘33 Noaladiseé (D) Aathisood!
(E) Answermrlot. known ‘@ryaﬁr@' os@ens |
“praid @rawpin Qerd@ES |
GDsseTng) ? |
(A)  upQuwmf (B) fosen \
(C) preguwmi D) pHros

(E) &S Qs Mweildene

g aarp LpGLMPIL

: ; . |
e 34. According to Valluvar, which will be considered with ulmost t
;_

gratitude?
(A) As Bamboo as :Een/eﬁt (B) As Millet as Benefit
(C) As Sea as Ben (D) As Mount as Benefit
(E) Answer not known
auit @GOLINGS DT ?

el T&HE Q@ meTeUT ETe U6 (Eh
- (B) doar siemey itz
(D) weve Sierey peril

CTHENET ‘LIGDETLIETE
(A) aprdle iare] otz
(C) sL& era per

(E) oo Qsflweiicrena

35. «Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”

Who wrote these lines?

(A) Bharathidasan
(C) Vannathasan
(E) Answer not known

“FRoTenTsd STEDRIGTH H060 HO&TS

(B) Kannathasan
(D) Vaanithasan

GELTEGS SNHGWTD hGs 2 6L mb’ —

Blsseiens cufls@nse e Mweu wm?

(AY umjdgrsenr (B) sewemsnsan
(C) euamamgnees (D) eumenflgnaet
(E) eflen Qsflweiidvena

CCSE2T12024 26
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following is equg

R
e ———

5 then which one of the

97 1f ABCDE = P1Q2R384T |
to QZBFVTA. ; 1

(A) BQ2V7GP1 (B) BQ : |

(D) BQZUGOPI |

(C) BQ2V7EPI]

Q\ (E) Answer not known
ABCDE = P1Q2R384T5 aar Gopsme Garasmaaapgd Q2ZBFVIA

eretrigm b swwoneang e1gl’?
(B) BQ2UGEP1

(A) BQ2V7GP1
(C) BQ2VTEP1 (D) BQQUGGPI 5 %w;p ‘
(E) &flemi Gg:ﬂumﬁ]mmw s &. :
O™ <Y LT
7 2203

gain. If it had been sold for Rs. 1,200 4

38. Gopi sold a laptop at 12%
Find the cost price of the

more, the gain would have been 20%.
laptop.
(A) Rs. 15,000
(B) Rs. 16,000
Q\ (C) Rs. 14,000
(D) Rs. 15,500
(E) Answer not known

Cemd gm wyssafaflou 12% Qorusdbe eAppri. Gogd @3
m. 1,200-55 sm@sors dApdmpsrd Qarun 20% 248 & (HSELD-
wig Saenfaflufler 2_&8 cfleneeniis &mes. Fots

A . 15,00
(A) 0 | \@Sp

(B) 5. 16,000 - %

(C) @ 14,000

(D) @ 15,500 | g %

(E)  dflen. Gpflueiidara

- COSE21/2024 g 3
Sy |
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39, What is 20% of 30% in 500?
(A) 30
(B) 150

(a7 15 (D) 100
(E) Answer not known

500 @er 30% UL 20% erenen
P( ( ‘é) :3(-) (B) 150
(©) 75 (D) 100
(E) dlev Qgsflualédane '(rq*

40. Find the missing number in the series.
4, 18, 7, 100, 180, 294, 448
(A) 48 (B) 50
(C) 58 (D) 60

C/ (E) Answer not known
Qerpssiiu AsmLMelmbg 69O UL GTGRTEN GUTd: & TG
n®

4, 18, ?, 100, 180, 294, 448
- A h

(A) 48 (B) 50 % 7/:*\&2

(C) 58 (D) 60

(E) ofler Qgflweiioma \u\ m

41. The sum of first n natural numbers is 253, then find the value of n.

(A) 29 (B) 18
C) 24 (D) 16

(E) Answer not known |

. psd n Gue sramsafian [0S 253 arafled, n-@en UL SIS
T e (D) 16 4
e e Qgflucidama

iR 29 CCSE2T/2024
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42.

N

43.

] y
If fox=cat then xerox miy be equal to |

(A) terct
(B) tcroa
(C) terot

(D) terat
(E) Answer not known

fox =cat eraflédd Xerox ereiig erdamen &bl in?

(A) terct
(B) tcroa

(C) terot

(D) terat
(E) eflen G]g;rﬂu.naﬁ]d)‘mco

Three dice thrown at once. Find the probability of getting same

numbers in all dice

1 1
@) = (B

1 1
O = | (Bhs

(E) Answer not known
apaTn US®LEE garprs 2 @il iu@uurg owansg LseL@gid §7
e den &8 Flspssa| eremen?

1 1
@) = gl
6 ® 516
1 1
i) i
e @) 3

(E)  oflani_ Ol fwiehldenen

CCSE2T/2024 30 p
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44.

45.

g’;e Cl:r;::‘d;urfga? Area of a right circular cylinder of height 7 cm 1s
em?, Find the diametor of the cylinder.
(A) 2cm

(B) 4cm

(C) 6em

(D) 3em

(E) Answer not known

66 #.05.8 caarLyiiye "L o meverer ewb 7 Qa8 erafld,
o maneruden ofl sndrgu.J IS St
A

(A) 20s.8 i?«_;,f
(B) 40s.8 ‘

€) 6Gs.b (o© A,/,AD/
(D) 3Gs.8 /k ;D
(E) dflen Gsfudidens

The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates
at the rate of 4% p.a. in first year. In second year it increases by

4% p.a. Find the present value.

(A) Rs. 76,800
(B) Rs. 80,000 | &
(C) Rs. 80,128 A0 \Q@O
(D) Rs. 79,872 %

(E) Answer not known

G, sbay ansed gaflar daw Gremd emds@se o ©. 80,000,
(ppd el 2P HE 4% @eopdpg. GreamLmbd &l 4% sfsNsdng
aafléy sipen pHGunmpw diame eadnen? y\
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v the four ph
46.  There are four cell phones in a house. At ? ﬂi:“:;i]iery 90 miis")'t\gs \
will ring together. Thereafter, the first one r g;ings Sver 40 m_me |
second one rings every 30 mins, the. third on}e1 eias Wil tha g1 g |
and the fourth one rings every 50 mins. At wha ’ ur
cell phones ring together again? ‘

(A 1P.M.
B) 1AM.
(C) 3P.M.

@ (D) 3AM.

(E) Answer not known
. i 2 ¥ ¥ 5 Lﬁmﬂé;’@, GTd)Q)n
& il e e @luiladr o draTar. ST _
a(gmcugg@g @g)rmn& &G, War (psed s@Guslunearg) @-QJGGMQ
20 AP mselgn, @reviraug e@oGudl gaGarm 30 Hiblfisaigs,
gpepreag eaCud gabaunm 40 AVl msadgib, prasrag Si@maGusd
@eiCeur 50 Hllmsellgid gdsdamear aafle, e Barhib eruGur
REATDIS el&E@Lb ? .
(A) QGpuse 1 weef
B) wiuse 1 wef
©) Yhuse 3 we

(D) whuse 3 wef
(E) e Qsfuedcoena

If HCF of x3 —_8y3 and x* —k%y? is x +ky then value of

(A) 2o0r -2 (B) +2
€ -2 : D) 0

47.

@ (E) Answer not known
x®—8y wpgin x%-k2y? @ BuGum Qurgy aEsd x+ky aafle ke

Wy |
(A) 2 sy —2 (B) +2
©) -2 ‘ D) 0

(E) eflen_ Gz flweldena

32 ﬁ
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48. In how many monthg (he principal of Rs. 2,000 will double at 8% per
annum in simple INteregt?

(A) 144 months (B) 150 months
(C) 120 monthsg (D) 140 months
(E) Answer not known

v W

sall @iy epa wgd - 2,000, 8% e iqaispddr @riiqliuns ereuaana,

@ OIS @D ?

(A) 144 wrgriser (B) 150 wrgmisar
(C) 120 OIS s @i (D) 140 wrghiser
(E) & Qsfwefdaa

49. The L.C.M. of 3, 2.7 and 0.09 is

A) 2.7 (B) 0.27 &
= © 0.027 | D) 27 @
>, ' (E) Answer not known VO )
' 3, 2.7 wpmib 0.09 e 8.8.10 ¥ &
o A) 2.7 (B) 0.27 Q0o
g (©) 0.027 D) 27, m
7T (E) oL Gsflucioma ‘ \
50.  Which one of the following lies between %/7 and 4/5? o B S
@ vz (B) 3 L
©€) 4 D) V5

C/ (E) Answer not known |

_ Spsanamucuphld crg) 3T LoHmID 5 QaupdnE Qe ule siewowib?
i * ®) V3

D) 5

1 Qﬁﬂmaﬂdamw
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52. Who among the following haq started
(A) Shyamji Krishng Varma

(B) Vinayak Damodar Savarkar
(C) Lala Harda_yal

(D) Sohan Singh Bakng
(E) Answer not known

‘Mitra Mela’ Association?

AerameiamaipBler “sr Guoen’ sissens Ggm et wi?
(A)  epwmbgd & meisemr auiior

B) &Mpmus srCwrsi sreunsai

(C) oreor aptswimer

(D) Gsramer Sk LsanT

(E) &ferr Qsflweldeane

53. Who founded the All-India Muslim League in 19067
(A) Muhammad Ali Jinnah
(B) Khwaja Salimullah
(C) Sir Aga Khan
(D) A.K. Faizul Haq
(E) Answer not known

SmasHpAu penedid 6 s feow 1906-6 Hlpiefwig wmi?

(A) @swg =6 gGerar
(B) seurgn sellgpeveom
- (C) & ans smen
KT I (D) &.Cs. ewusd ans
i (E) ofan QpMweiidrane

36 ‘ . CCSE2T/2024
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54. Assertion [A] : Swami

Vivekananda founded  Ramakrighy,

Mission to lml)ulm'is(- the teachings of his magtey,

wstic order ang

Reason [R] : Ramakrishna Mission was a mon:
devoted itself to the spiritual development of Map

(A) [A] 1s true, [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] is false, [R] 1s true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

ampp [A] 1 samf  ACasrahst sag Gmelear  Gurseensea

urtiu @orwodlegeanrt Wapene Hloieferri.
smpard [R] @ @unodlpeyert Wagen @@ gimeun <oiaioliy WHMID g
| weilgefler oenls eueriédlss seraan DLl GSE).

(A) [A] &, [R] eupy

(B) [A] wpmib [R] &M, [R] [A]lleyenwi sfwmen efarésib

(C) [A] saug, [R] &

(D) [A] wpgb [R] aM epeme [R], [A]GgnenLwi sNwinen eferdaiode

(E)  eflan Qgfuweidana

CCSE2T1/2024 36 ' p
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63.. Which one of the following 1is false with regard to the reign :
J “sh

Ahmad Shah?

(A) He transferred his capital from Gulbarga to Bidar (1425,

(B) The rivalary between the Dakshin party apg foreign e
became accentuated during his period ~

(C) He conquered Warrangal in 1424-25

(D) He annexed the kingdqm of Gujarat to hig Empire
(E) Answer not known

&G agmellan =y fufer G @H1UAC L euhBle Tl SeupTans
(A) soopsmr Gurssalledl(bbgl L Tmes wrpblerm (1425)

B) war stwsded  Laflar GWelp@Ed  Qevelpm {s SWayésh
QoL arer Gorge udml Cuestiuc @ QUbSS)

(C) 1424-255 A4 QUTTEISED eTemn G)L b @SULHDUILLL g
D)  &xrms <iyams et GuipreL e Qeanssis Qsmemmi

(E) afleor Osfuiefcransy

64.  Who called India as “Ethnological Museum”?
(A) R.C. Majumdar‘ (B) R.K. Mookerji
(C) H. Risley (D) V.A. Smith
(E) Answer not known 4
Grdun g, waflg GVSLlam oymmsm dusin T e PSSaUT Wi ?
(A) .4, LI G My (B) <1.Gs. apsigd
(C)  Qaws. Mevey (D) &.¢. evls
(E) efleni ©l flwieh dren ey
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6.

66.

Which of the follow;
- ()W] « Y Y . 1 1 i
ng Harappan sites are not in India?

A) Mohenjodars -
(A) Jodara ang Haruppa (B) Lothal and Kalibangan

C B] & ali ;

( ‘) 1anwali and Ropar (D) Surkotada and Dholavira
(E) Answer not known

ED&H&ETL_6uf)

@GUGU)Q)’) QJGTT Gr,r_f_),g -@—JDULJLJFT ‘ﬂjr]'&ﬁgsg) r@@ﬂ-m&@ﬂ— ‘QDQUH@@ @E@U_”TG)QG.U

(A) Gmna;@&g,rr@r;rrr LOmID enyiLT (B) Gangsed whmitb srellukisen
(C)  ueneuned) LOMID emLim (D) &iGamm_r whmb Csremellym
() elenr Qsflweioena | |

Arpund 25 districts in the east coast; 10 in Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories?

(A) Chilika region

(B) Nellore region

(C) Machillipatinam
(D) Sundarbans Area
(E) Answer not known

Slps@s sL_hamyuied &LomT 25 wreul L kiger; slpmmige 10, eypdrrele 7,
@uereler 6, woppn CoHe emssdd 2 - @orael Yudsertd
UTS&EILIL G8n g LIEna. @Qapidle, epsll UGSHuTag SHMLWTET GUMSsL

LHuaaeiler 70 sseis LTSHLUMU ADLULD?

(A) s uEs
(B) Gpagrt L@

(©C) wsduuigand

(D) EhgraaILIGS)

. (E) aflen._ @z Mwellcrened

Gl 45 CCSE2T/2024
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68.

69.

north
The ern upland of the Karnataka Plateau is known as

(A) Malnad
(B) Betwa

(C) Dhasan
(D) - Maidan

(E) Answer not known

SITHTL& SLL G 6 _ ™~
éla)EQ&&lLILJ@éﬂ’[DQL QJI_&;@ ,'f)]Q)LII.JULJI._I GTenT

(A) wreBIE

(B) Qui_eur

(C) snsen

(D) ewimen ,
(E) oflenr QsAwelcrena

Which Ministry launched the Digital Intelhgence Platform (DIP)
and ‘Chakshu’ facility on Sanchar Saathi portal?

(A) Ministry of Power

(B) Ministry of Civil Aviation

(C) Ministry of Communications and Information
(D) Ministry of Earth Sciences :

(E) Answer not known

CCSE2T/2024
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71.  Who had been give

. the “Sl » by the Min .
oind Tndustey? ulp Awards” by the Ministry of Textiles

(A) tolegendary dramg artists
(B) to rural women entreprencurs
(C) to legendary farmerg

(D) to legendary craftg person
(E) Answer not known

ggeder .mmm“b Clsmdlegianp QienFFsHETH  SAa  ellpgIsET  WThHsE
P& LI (HE D) 2

(A) ysPQupp pr_ss 606 @h (18 (6655,
(B) dAprouym Quess QsmfldaperanCGaurmir
(C) yswQump eleusmlser |

D) yepeupp @sdmars someeEsisdr
(E) elen Gasfweldena

72. Some parts of the moon never see sunlight. Because the axis of the
moon 1s to the direction of the Sun’s light.

(A) Perpendicular (B) Parallel

Same (D) Opposite

1swer not known

_w Ao ugdsdr auBurgd @il @Gfﬂug]mmu unissGsiaema. e
b Haclar o G&u  galdar  dosss ; =T

(B) @eerwuns
(D) adyns

49 ecsmmm
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= gsertion [A] : 2. :
. A (A 4 - D is used as herbicides.

Reason [R 9 d LTy
Rl 4 , D induces production of  fruits without
A) (Al fertilization,
( 1s true, [R] is the cor :
rect
(B) Both [A] and [R] are trueec SEplaRIoL
(©) [A] 1s false, [R] is true

D) [A] 1s true, [R] is not the correct explanation
(E) Answer not known

sapm [A] r2s A sl s@arEQsradlurs Ceudu@ang
smpeod [R] : 2-4-D SOHYDTOSD safl o (meurs GTIeunTdng|.
(A [A] sflwreng, [R] sflwnen efersan

(B) [A] wpmubd [R] FRlwmeng)

(C) [A] seuprang, [R] sflwnang

(D) [A] sflwnang [R] sflurer eferésificrency

(E) e Qsflueldaena

PR FP—

75. Objectivity, Predictability and Generality are‘ the features of

(A) Scientific method

(B) Scientific enquiry
(C) Scientific attitude

(D) Scientific experiment

wer not known

apersafiiysgamn  wipd  QuIg@wssaew
uG6r SHDEBISETTS A WEMS). # i

@ (penm
16 el gmiyenemnT

& LD@TLILITETentD
we ufCengeanen -
@prﬂwsﬁ\mmw
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A T

76. Identify the corr

(A)

(B)
(&)

(D)

(E)

Qmm@wmmmﬁﬁb

t wp-u-mi(m/nw;ming of “CEDAW”
eclt eXpe . .

' f the expansion and development of Arflolesre-nt
Convention ol LU »
Wmmnt' of the execution of different ideas for women
Convention
Convention on the e
against women
Congregation 0
against women

Answer not known .
«CEDAW” erénp aﬁhﬂ@_nrréaa;g‘é,]etr/@un@mm #flurag

Jimination of all forms of (1i5<-friminatir,n

f the eradication of all forms of discriminatiyy,

Caihlls[H&&e]LD.

(A)
(B)

(©)
(D)

(E)

cueTi@arid upaunQuanseflen aperGardon wHmIb offleurss wiprE
Quemsenssrar LOGMD  SBSSGAUTESRS®MET el (PeDUL G50
LOMBT(H)

QuansEsse adfmer Simabg s UTGUILymanyb béGaushsna
wrBTH '

QuasEpsE adrmar S@aisg oils LUTGUILgoanyn eulliughsar
gL _

eflev Qzflweildene

77. Which one of the following is a one-stop source for all the geospatial
data for the state of Tamil Nadu?

(A)
(B)
(©)
(D)
(E)

Tamil Nadu Geographical Positioning System (TNGPS)
Tamil Nadu Geographical Information System (TNGIS)
Tamil Nadu Global Information System (TNGIS)
Tamil Nadu Global Positioning System (TNGPS)
Answer not known

BOPET wiflesdbsran Semansg Lelulwd sreseEndEHn lﬂebfw@w@f@-@ﬂ%’
g @Gy GLsda 2 drarg 2

(A)
(B)
(C)
(D)
(E)

sULEIH Yefludwie BlepaoiLip s el
HHPETH yelulwe ssad ey

BIPEIH 2 wsammelu sseud e@wliL
SUEDHIH 2 wsanrelu BleneotiHoHBe ienioLiL
eflent. Qlgflweldency
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8 The United Nation g declared 1987
| (A) International year of iyl Ch‘il-dr n
en

) Inter 10 ea om
(B) er Ilat? nal yeay of Shelter for the homeless
(C) Intex natmnal year of W |
Omen

(D) International year of Cleanliness
(E) Answer not known

987 - @ —— : |
1 o — D& REEW B[ s 2MleflE58!-
(A) eteuGses Quam Guimsser oy

e —— .

(B) &’ﬁ@@gﬁ& 2 emmelliL b @d)c\)rrg,wr'ras@és@j 2 el b eupriGLD e[
(C) eruGss waaflrsarar oyamnE)

D) sireuGse ssssslpsrer e
(E) e Qsfweloene

- 79. In which year Flipkart signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion

Bureau?
(A 2021
(B) 2018
(C)- 2001
(D) 2011
( - Answer not known

e Gefllsmi, EAIC) MSME QUiTEsSD  LHID WsSLE
selliy Lifibgennia) LemLESEIL-ET GUUpEESD @sALEESLEI?

58  CCSE2T/2024
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_86- o«

g5. According to Vallyyy

s What ig the weapon to destroy the arrogance

of foes?

(A) Heroism o

(C) Fort orce

» (D) Wealth

(E) Answer not knowy,

‘Liengeu et ; . ’
| @ﬁﬂﬂ@&mnﬁinmgmﬁ SLEGD  usid  eenn  euETERET TSNS
" (&) cfind B) uenL

©) e (D) Qséeutd

) e Qphudiohm

(A)
(B)
©)
(D)

®)

that man desire it is plain whom others wealth

Del‘ight:s not, feeling envious pain”.
Whom does Thiruvalluvar refers to in the given above Thirukkural?

Nor wealth nor virtue does that man
Man of envious heart

Envy they have within

Goodman

Answer not known

——— Ypein&sid

eIl Lime -

auarepeut GILGESDTI?
&b CouaTL TSTe

s Qp@psbsTar

o @nL_WImed

7
flusehléhemen

e CCSE21/2024
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87. What kind of Dhot

. worn by maternal uncle while singing lullahy
1 ,

you identified?

(A)
(B)
(C)
(D)
(E)

sreom_(HIL um_aSled

(A)
(B)
(©)

D)
(E)

Silk Dhoti

Sandal Dhoti
Thuvai Dhoti
Mallu Dhoti
Answer not known

STUILDTLOET &Ll au(pd Gaullg cuens 6rg)?

Ul (B Geulllg
shgar Geullg
glemeu Geul g
wegy Geul g
efenL Gzsfwelerene

88. “Utruzhi uthaviyum uruporul koduthum” —
What field is eulogised in this Purananootru Paadal?

(A)
(B)
(©)
(D)
(E)

Education (Kalvi)
Charity (Eegai)
Integrity (Nermai)
Truth (Unmai)
Answer not known

‘2 pmifl 2 gefluyb 2 mGQurmer C&sTH&gID” —
Copsngmb UnprardmitLm 6 Silg. arper Apienu cuelynssiSanng) ?

(A)
(B)
(C)
(D)
(E)

G
Fend
A
2ot en LD

aflem_ Glg,ﬁlmm&]@mm

CCSE2T/2024 A
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g9. Choose the San

gam : : : 3
considered the m period in which the poet Nakkirar was

St predominant
s ' poet :
(a) First Sangam

(b) Third Sangam

(¢) Second Sangam

(d) Fourth Sangam

(A) (a) only (B i) sl

(€) (¢) and (d) only (D) (b) and (c) only
(E) Answer not known '

5CGp GsrRssiuLQaer sresfso pelrt Bs wsHu Ueets abss s
sTs@ss Caibseurmas smetiL@A DM ‘

(@) s smsbd

(b) eperpmb FrisD

(c) @rawLmb shsib

(d) presmb sESD

(A) (a) wrE (B) (b) v G

©) (© wpgw (d) LLGD (D) () wpgid (€) wLEL
(E) e Qsflweldena

90. One side of a rectangular ﬁeld"is 1.5 m and one of its diagonals is
17 m. Find the area of the field.

| (B) 100 m®

m?2 (D) 120 m?

flosder @O UsS SjeTey 15 8 wppd g @@
afl®, HogHer UTiLET Erars.

(B) 100 82
(D) 120 82

49 CCSE2T/2024
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7

cat=abec

f
93. I dog =def
Then which one of the following may be equal to i
, cot
cha
A i
B ® e
bn
o) <bn : b
S ace . AR :—eg
(E) Answer not known
cat=abc tan
Hos—det I OIS adilg W ee i raiDI e
H GDI&SLILILmD ? 7
(A) chba Tril - (B il
. aec ace
X .
(C) e . , (D) b
ace : aec

(E) e Gsflweldane

9. E&GBDM4NKH2ACZSV3F1JLOQ5PR
What will come in place of question mark in the following sequence?
GDR BMP D45 ? |

- (B) 4NQ
, (D) M4Q
' not known |
ANKH2ACZSV3F1JLOQ5PR
V@J Ldlems (LD QLT 6TEHI ?

?

(B) 4NQ

(D) M4Q

61 CCSE2T/2024
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yvs. The

95. A can finish a job in 6 days whereas B finishes it in 12 da?

time taken to complete the job working together is
(A) 6days ’ (B) 4 days
(C) 8days (D) 3 days

(E) Answer not known

A aeénuait g Camamw 6 priseligid B eramueuir 12 prisaflguid (y?tq_uuﬁ
aafler, @maumd @apres Caibg b Coumaemw eTdHF@mar Bl safle

AP LI ?
(A) 6 priser | (B) 4 priaar
(C) 8 priser (D) 3 priser \Qg
b \Q/ /
(E) &fenr Qaflweildene 30 '

96. A swimming bath is 24 m long and 15 m broad. When a number of
men dive into the bath, the height of water rises by 1 cm. If the

average volume of water displaced by each man be 0.1 m?® how
many men are there in the bath?

A) 32 (B) 36

(C) 42 (D) 46

(E) Answer not known

e béed Gemd 24 S L berapid 15 S it sisapid Cerawr_g. @Hlndr
aamerfismsilona yamssT wpss GaEHL GHaE@h Gungy, Bher o wpbd
g Q&5 e widng. e & symefurs GeualCupmib Biler werey 0.1 15°

s arafléy Sibg HEsD GersHd arEsMman wyaaeT o dreTat?
(A) 32 (B) 36
©) 42 | (D) 46

62 B
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Find the simple
97. 1nterest on Rs 68,000, at 16.2% per annum for

9 months.

A) Rs. 7,500

(A) (B) Rs. 8,500
C) Rs. 8,

(€) Es. 6,500 D) Rs. 5,500

(E) Answer not known

2O il ofldsd 162% aafle . 68,0006s garLs LIEHEERSEE s
QUL Ly GTGHTE?

(A)  @. 7,500 (B) . 8,500

(C) 5. 6,500 (D) . 5,500
(E) ofler Qsflwedana '

A B C
98. s D = I X —_———
If 4:B-:C=2"3 4thenB C Alsequalto
(A) 8:9:10 | (B) 8:16:24
D) 24:9:8

r not known
| A BC
:3:4 aalle Hi meéﬂul—l

B) 8:16:24
D) 24:9:8
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99. Reaching the place of meeting 20 minutes before 8.50 hrs Sunil
found himself thirty minutes earlier than the man who came
es late. What was the schedule time of the meeting?

40 minut
(A) 8.00 (B) 8.05
(C) 8.10 (D) 8.20

(E) Answer not known

sl b gangushE 20 HBlLb peaaGo safld erareui 8.50 wenflés
Qeanprir. i@ sl Lb gangaugdd 30 Bl opearerGr abs) AL gns
o amipst. g wallst i sdne 40 HBlLD sT@gTOFONS QUBSTT erafled
Sal Lib glaurus @MNss Gy ereben ?

(A) 8.00 (B) 8.05
©) 8.10 (D) 8.20
(E) e&fer Qsfluaiidrena

100. A can do a certain job in 7% hours. B is 20% more efficient than A.

How many hours does B alone take to do the same job?
(A) 5 hours : (B) 53 hours
(C) 6 hours (D) 6 hours

(E) Answer not known
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